
projects . u%e = -7¥ til = t 's)
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Note projjui.io
-

because it - T = f fIis perpendicular

.

to I
.U

The  equation of
a plane normal to  no has the form F

'

(§
.

I = c where c  is ascalar .

Since p is  in the plane then c in - P = f-
 

I If :o) = - 1+6=5

Then the equation  is - x -13g +2=5 is an equation for the plane P
.

③ and ④ solved in class

A line perpendicular to the line of equation 3×-29=33 has direction vector Iz ) ( which

is the normal vector to the given line )

Thus ,
the required equation can be written as (3) t t

. f I ) where tink
.

⑥ done in class



Not linear because of the term sin 2-

Not linear because of the term y
'

Linear .

Not linear beaten of the term x. y

}
These equations can be interpreted as two linear

.
Since the corresponding normal vectors are

( ; ) and FL ) are linearly independent ,
the lines  intersect at a  unique point .

Thus
,

the  system has

a  unique solution .

}→ Since the first equation  multiplied by 2 gives the second
,

the two equation represent the

same set of points ,. These set  of points  is the solution  of the system . Thur the  system

has  infinitely many solutions .

↳ These are two parallel lines (C !) is a normal vector to both directions )

They pennant different lines be use the first equation is equivalent to

2x  +2g =
2

. Thus ,
the lines are disjoint and the system has

ho solutions .

⑧ in class
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Thus the system has a unique solution

,
namely

it%



the Red . now echelon form has z leading Variables
and a free one .

This , the system has infinitely many sol '
n .

→ By applying elementary row o rent im ( swapping nous )

Eve obtain e red
.

'

now echelon form with a unique
solution

→ The best now of
the matrix can be translated

to 0 = 2
.

thus the system has no ol
'

n
.

→
This is a

"

triangular system I that

con be solved by ④backsubstitutes

and has a unique
solution ,
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The system alum has soI ⇒ spans DR3



Tf there exists x
, Y , ? such that

x. I tyre -28

=/
:o)

then - Ix t.org +07=0

Thus x =
O .

I 2 y t 3 2-  
= O

.

Them y = O

- y 1- 3 t =D and 2-  = O .

Thus the veckn ere linearly independent since the only

way of obtaining (g) as a linear combination is with all

the coefficients equal to 0
.



setB.fi : )

AB
. food 1%1=1 : :L

Bit . 1%1=1: : )

Yg AB -

- BA then
c=o and e- d

Thus B = f aoba)


